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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 5,082 2 4,539 3 6,150 4 1,008 )
X 3 X 3 X 4 X 6 '
2.
3.
4.
5 2,845 6 8511 ) 5,409 8 7,615 )
X 2 X 5 X 5 X 9 '
6.
7.
8.
9 5,451 100 4,189 11) 9,783 12) 8,816 .
X 8 X 3 X 8 X 8 .
10.
11.
12.
13 9,123 14) 8,660 15 1,201 16) 3,612 a
X 7 X 7 X 3 X 2
14.
15.
16.
17,420 18 7,192 19 8,481 20) 7,854 .
X 9 X 5 X 6 X 3
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical)

Answer Key

Solve each problem.

1) 5,082
x 3

15,246

5 2,845

5,690

9 5,451

43,608

13 9,123

63,861

1) 7,420

66,780

2)

6)

10)

14)

18)

3 6,150
x 4
24,600

) 5,409

27.045

11) 9,783

78,264

15 1,201

3,603

19 8,481

50,886

4)

8)

12)

16)

20)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

15,246

13,617

24,600

6,048

5,690

42,555

27,045

68,535

43,608

12,567

78,264

70,528

63,861

60,620

3,603

7,224

66,780

35,960

50,886

23,962
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Multiplication (Vertical) Name:
Solve each problem. Answers
13,617 15,246 70,528 27,045
6,048 78,264 42,555 43,608 1.
24,600 12,567 68,535 5,690
2
1) 5,082 2) 4,539 3 6,150 4 1,008
X 3 X 3 4 X 6 3.
4,
5.
6.
7.
8.
5 2,845 6 8,511 ) 5,409 8 7,615
X 2 X 5 5 x 9 S
10.
11.
12.
9 5,451 10) 4,189 11) 9,783 12) 8,816
X 8 X 3 8 X 8
M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
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